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What day of the week was 29 June 2010?
(a) Monday
(b) Wednesday 
(c) Sunday 
(d) Tuesday
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What day of the week was 5 February 2008?
(a) Thursday
(b) Monday
(c) Tuesday
(d) Wednesday
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If 29 January 2003 is a Wednesday, then what day of the 
week will be 26 February 2005?
(a) Saturday
(b) Sunday 
(c) Thursday
(d) Friday
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What was the day of the week on 14th March 2010?
(a) Tuesday
(b) Monday
(c) Sunday
(d) Saturday
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Ink : Write : : Medicine : ?

(a) Doctor (b) Chemist (c) Tablet (d) Cure
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20 : 68

(a) 5 : 18 
(b) 30 : 110 
(c) 25 : 90 
(d) 12 : 30
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‘Density’ is related to ‘Hydrometer’ in the same way as 
‘Mass’ is related to ‘______’.
(a) Kilogram (b) Heaviness
(c) Balance (d) Volume
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If EAST is coded as 180 and NORTH is coded as 375, 
then how will SOUTH be coded as?
(a) 625 (b) 415 (c) 83 (d) 332
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If BARBER is coded as 116 and GLINT is coded as 73, 
then how will LIZARD be coded as ?
(a) 92 (b) 93 (c) 91 (d) 90
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Preeti is the only sister of Virat. Manoj is the son of 
Dileep, who is the husband of Maaya. Virat is the son of 
Devansh. Devansh is Manoj’s father-in-law. How is 
Maaya related to Preeti?
(a) Daughter-in-law (b) Sister-in-law
(c) Mother   (d) mother-in-law
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P and Q are husband and wife. P's father-in-law is R's 
wife's father. Q is the brother of T. How is P related to R's
wife?
(a) Aunt (b) Cousin
(c) Sister-in-law (d) Brother
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The sales boy of a washing machine store charges his 
customers 24% more than the cost price. If a customer 
paid ₹6,200 for a washing machine, then what was the 
cost price of the washing machine?
(a) ₹5,500 (b) ₹5,000 (c) ₹6,200 (d) ₹7,200
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Find the number of squares in the following figure.
(a) 30 (b) 28 (c) 24 (d) 32
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